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R75.1 |ZL\CA TR Lizbol 36 10 1512 1080 1080 ®
R75.1 |fZWZA FE fizbsl 240 10 1728 972 864 ®
R751 |FEWZA &ait ARt 29.1 ®
R75.1 |IZALCA GilE] fizbsl 1.1 10 2808 2160 1728 @
R75.1 [I2ALA me Haxt 16.2 10 2376 1944 864 @
R75.1 |ICALCA ait Lizbsl 17.3 @
R75.1 |[E<&E TR Haxt 6.5 15 1620 1296 1080 ®
R75.1 |[E<Ey ait Lizbsl 6.5 ®
R7.5.1 |F¥_y Ee:ESINN izbel 24.4 10 1220 972 648 @
R75.1 [Fv¥RwY £%E Fisbul 16 10 1080 648 540 @
R75.1 |Fv~Y ait Lizbsl 35.9 @
R7.5.1 |RoL2VYY P37 fizbs) 02 —ik 108 81 81 ®
R75.1 [RLovty #E +axt —R ®
R7.5.1 |RoL2vY™ &% Lizbsl 0.6 ®
R75.1 |R#E(F) R A%t 06| —X 173 162 65 ®
R75.1 |R&E¥(H) P31 fizbs) 04 5 1836 ®
R75.1 |R&E(A) FE Bxt 1.4 5 3240 1836 1728 ®
R75.1 |R& &% Lizbsl 41 ®
R75.1 [L&X Fi30 A%t 2.0 10 2052 1620 1318 @
R75.1 |LAR GilE] Haxt 12.2 10 1944 1404 864 @
R751 |LAR &% Lizbsl 14.8 @
R75.1 |E®5Y(XR—3—) GilE] fizbs) 03| 50& 2700 1512 1188
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R75.1 |hIEbe N-Z Lizbsl 26 10 2700 1944 1836 [©)
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R7.5.1 |EL&LIA AF Lizbol 0.3
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R7.5.1 |#&#HA (A\HR) FiE ik - 0.4 @
R751 |#HA &% Cichs) = @
R75.1 |YAZ(Zard—IK) (& Lizks 0.7 10 5,400 4,860 4,320 @
R7.5.1 |YAZ(H2AL) Ll A% 7.1 10 6,480 4,860 4,320 @
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R75.1 (75T 7 = X -
R75.1 [LWBI(HIIFH>R) Frhe Lizks) 1.7 0.26 378 324 302 ®
R7.5.1 |LWBI (ELUE) FrhE Lizks) 04 0.26 378 173 173 ®
R751 |L\bT L X 2.1 ®
R751 [AAY(7—ILR) Frhe A% 0.1 8 16,200 14,040 12,960 @
R751 ARV (7Y TR) pi3 Lizks) 0.2 5 4,860 4,320 3,888 @
R75.1 ARV (FYTR) RER A% - 5 @
R75.1 |ARA(ZFDith) R A% 0.1 5 3,456 @
R75.1 [AO(ZFDHh) RER A% - 5 @
R751 |*AY L X 0.5 @
R7.51 |FULyH(NDR) RER A% - 15 ®
R751 | Ly &% #axt = ®
R751 |FIL—~1— B 0E Haxt 0.1 0.1 378 324 324
R751 |FTIL—A~1)— L X 0.1
R75.1 |it Lisbs) 13.1
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